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(1) Complete:

1A Miatter Has coouees a0 casasaas

2- Measuring tape is used for measuring ......ccccceueue.

3- Measuring units of length ....ccccoeceviees) evievviicceees @Nd i

- Measuring units of mMass c.ssmepammnnss a0 s

5- Measuring units of VO UM ey eeeer s e s ensevemes @0

6- .cooorveeenene. IS @ tool-Used for measuring the volume of irregular solid

bodies and liquids. |

7= vieieiveiienennnde iS5 @ tool used for measuring the mass of gold and
chemicals while'................. is a tool used for measuring the mass of big
masses like fruits. "

8- 1000 kilogram = ...............

9- The volumeiof a brick = .....cccoevvee X cvvviiiiiiiciee X e i

10- Five meters equal .................. centimeters. .

11- When your'classmate puts a piece of iron in a beaker that is completely
filled with water, a guantity of 20 cm® of water is poured o_ult, so the volume
of the piece of iron equals ............... |

12- coeiiseen Ut s used to measure the distancé between Cairo and
Damietta. h i _—

13- The space occupied by a cube with one meter side equals ..................

14- Amr calculated the mass of four pieces of different materials that are
equal in volume. he compared the mass of each of them Amr wants to
prove that equal volumes of different materials have .................masses

15- States of matter are ....o.ccceiiinsy cvviveviciiiienns AN i,

16- Matter that takes the shape of its container and its volume cannot be
changed is ....cccceuen.....

First term @
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17- On transferring water from one pot to another, its shape .................

18- Matter can be pressed in case of its ................ State.

19- Matter has definite shape and a definite volume in the................ State.
20- The change of matter from the solid state into the liquid state is
accompanied with .......ccoceiiieinene.

21- Gold industries need ................ Process.

22- Increasing the temperature of water to the boiling point changes water
i) fo Pro

23- Poles of electric cells are'made Up=OT L BT

24- The group of elements that doesn't have luster is known as ................

25- Electric wires are made up of ................

26- Gold and silver are used in manufacturing ................

27- All materials you see in your environment are made up of................

28- We USe ...bveeenes in manufacturing bridges.

29- ........cee..... Can be bent, while ................ Cannot be bent.

30- ...c.ccceeenne. is @ liguid-metal, while sulphuris a ................

31- Silver is a shiny element, so it belongs to ................, while sulphur is an

element that doesn't have luster so, it belongs to ...

32- The melting point of sulphur is ............... than the melting point of
aluminium. A 4

33- Adding ................ to gold in order to reshape it into jewelry.

34- Metals are ................ Conductor of electricity and heat while nonmetals
are ............... Conductor of electricity and heat except..........

35- Burning of wood is considered as a............c.cccceeeueenne. change.
36-Melting of ice is considered as a............c.cevucu.eee.. Change.
37-Boiling of water and its vapour release is considered as a......... change.

38-Chemical change is change iN.....ccccoeeeeei e eecie e

First term @)
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39-Rotten fruits and their fermentation is considered as......ooeeeevvveeeeevennnnn..

40-Changing of ice into water is considered as a.........ccccvcuereuene.. Process.

41-Ductility of copper into wires is considered a.................... change, while
iron rust is considered a................ change.

42-Melting of wax is considered as a................... change, while burning of wax
is considered a..........c.eeveeeneee.. Change.

43-Burning of wood is considered a..................... Change.

44-Solid state—" liquid state .—* gas state.

(2) Write a scientific term:

1- Everything that has a mass and occupies a part of space.  (...cccceeviaennnn)
2- The amount of matter that the object contains. L
3- The space that is occupied by the object. L
4- A tool that is used to estimate the mass of tiny objects as gold and
chemicals. (reeeeereeeeeenen)
5- A state that has definite volume and indefinite shape:. © * (...l

6- The change of matter from the gaseous state to the liquid state by
cooling. | ' | PO
7- The change of matter from the"liquid state to the gaseous state by
heating. | : (coreirrrennineienas)
8- The transfer of ice into water by heating. | T —
9- The simplest form of matter that can't be analyzed into two substances
or more. (coreirrrennineienes)
10- The elements that have a metallic luster, are good conductors of heat
and electricity, have high melting points, malleable and ductile and all of
them are solids except mercury which is liquid. 1 SR |

First term 3)
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11- A metallic element that is used in making car frames, bridges and street

lights. T
12-A change in appearance of substance without any change in its structure.

13-A change occurs when sugar is burned. Cisisvsmusney )

(3) Give reason for:

1- Air is a matter.

2- When some pieces of stones are put in a glass-full of water, an amount of
water is spilled out of the glass.

3- Salt is a solid matter, while oil is a liquid matter.

4- Air is a gaseous matter.

5- The shape of/ water inside the cylindrical container differs from its shape
inside the conical container.

6- On putting a mixture of gravels and water in a refinery with minute holes,
water passes, while gravels remains in the refinery.

7- On making tea, water drops are formed on the cover of teapot.

8- Appearance of some water droplets on the plant leaves. "

9- The glass bottle which is put on the freezer of the refrigerator shouldn't
be full of water. | | ]

10- Gaseous matter is compressed and packed:in cylinders.

11- A piece of copper has a definite'shape when we carry it from a vessel
(container) to another one.

12- Iron is an element.

13- Gold and silver are used in making jewelers.

14- Cooking pans are made of aluminum.

15- Electric wires are made of copper.

16- Handles of cooking pots are made of wood or plastic.

17- The melting point of iron nail is higher than that of the sulphur crystals.

First term @
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18- When making an electric circuit with a foil paper, the electric lamp
lights, but when making an electric circuit with a sulphur crystal, the electric
lamp doesn't light.

19-Iron ,copper and aluminum are good conductors of heat.

20-If you get out a bottle of water from refrigerator and leave it in the air
water drops are formed on its outer surface.

21-Gold and silver aren't used in manufacturing of bridges.

22- Melting of chocolate is a physical change.

23- Producing of yoghurtfrom milk is a chemicall change.
24- Paper recycling is a physical change.

(4)What happens when:

1-Rising the temperature of a piece of ice.
2-Putting a glass full of water in the freezer for 24 hours.
(5)Cross the odd word

1-Aluminium-Mercury-lron-Sulphur.

2-Bromine-lron-Phosphorus-Sulphur.
3-Aluminium-Mercury-lron-Copper.
4-Carbon-Bromine=Phosphorus-Sulphur.
(6) Compare between:

1- Solids, liquid and gas o
oot comparion |_sord ] T _

Volume
Shapes

)

First term
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2- The change of matter process.

3- Metals and nonmetals.

Having luster

Electric conductivity

Heat conductivity

malleability ductile

Boiling melting point

State at room
temperature

Example

7-Put (V) or (x) and correct the wrong sentence:

1-Sensitive balance iswused to measure the mass of jewels. {

2-The graduated ruler is used toomeasure the mass. ( )
3-The graduated tape is used to measure the mass of fruits and vegetables.

()

4-Carbon and sulphur have no luster. ()
5-On rising up the temperature of a piece of wax it melts. )
6-Freezing is a change of solid state to liquid state. ()

7-On decreasing the temperature of the water vapour, it condenses.

()

8-All metals are solid elements in normal temperature except Bromine, it is
a liquid element ()

First term ©)
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9-Liquid matter have definite shape and definite volume. ( )
10-Solids are changing their shape and volumes According to the
container. ()

11-Sulphur is non- metal element and good conductor of electricity

()

12-Graduated ruler is used to determine the volume of irregular small

stone. ( )
13-The mass of equal volumes of different materials is equal. ()
14-Condensation is the change of matter from liquid state to the solid
state. ' - ( )
15-Metals are the simplest form of the matter. ( )
16- Melting of ice is a chemical change. . ( )
17- Burning of wood is a physical change. | ( )

18- The change in appearance of matter without any change in its structure

is called physical change. ( )
19- In physical change, matter can’t return back to its original form. { )
20- A combustion'of paper is considered a chemical change. ( )
21- During chemicéi" change, matter loses its properties. = | ( )

22- The change of matter from solid state to liquid staté is considered
physical change. - = ( )

8-What is meant by:
1- Mass.

2- Melting.

3- Metals.

First term
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9- Choose the correct answer:

1. Adding table salt to water with stirring produces:

a) new substance b) physical change c) chemical change
2.. cciiiieeeeeenn 1S @an example of the physical change.
a) burning of candle b) iron rust

c) dissolving of sugar in water
3. Putting a bottle of water.in the freezer of refrig'érat__or for a period of 24
hours causes ...............to water.

a) physical change b) change in structure ¢) chemical change
4. Adding yeast in baking is considered a .........ccco.....

a) physical change b) chemical change c) change in appearance

First term ®)
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Unit (2)

1- Write the scientific term:

1- The largest body in the solar system. (creereecran e e e ans

2-Shiny objects radiate heat and light and appear in the sky at night.

3-The smallest planet in the solar system. fsunmenimammrimny
4-Dark bodies revolve around the sun-in fixed orbits. fronmmmisimnmss
5-The nearest planet to thee sun. . (s
6-The biggest planet/n the solar system. T T
7-The planet that has colored rings around it. (N s

surface. .......eeeeeenenens
9-A dark body revolve around the sun and we live on it.  (iooodiniviecininnn.

10- The most beautiful planet. LS .o cincesacsinsnnions

11- A phenomenon occurs when the earth rotates around its axis.

12- A phenomenon occurs when the earth revolves around the sun.
13- A season in which day is longer than night. T T
14- A season in which day is shorter than night. et s T

15- Seasons where the hours of day are nearly equal to hours of night.

16-A dark body that seems bright as it reflects sunlight. (....ccccoeoieiieiennnnn

First term
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2- Complete the following:

1- The................. is located in the center of the solar system and there
are...................revolve around it in fixed orbits.

2- The earth is located between........cccccce.andunc e,

3- The........c....... is the smallest planet, while.................. is the farthest planet

from the sun.

4- Mars is Known as.......c..u. s p'lanet, while Neptune is the.........cceeeennnee,

5- Day is longer than night DRI ..o

6- Day is shorter than nightin........cc....c....

7- The hours of day are equal to hours of nightin............ececeee. and............

8- Solar year equals..................... day.

9- The earth revolves around the sun in about....................days

10- The phenomenon of.............c..c.ccccuccn.o.ee.. SEQUENcCe results from rotation of
the earth around its axis, while the phenomenon of......c........ séquence results

from rotation of the earth-around the sun.

3- Put right or wrong, then correct the Wrong one:

1. The sun is the nearest star to us. o ( )
2. The biggest body in the solar system is Jupiter. ( )
3. Planets are dark bodies that don't emit light. ( )
4. The closest two planets to the earth are mars and Saturn. ( )
5. The number of planets that revolve around the sun is nine planets( )
6. Neptune is the blue planet and mars is the coldest planet. ( )
(10)

First term




sci€hnce

a’erimary,

7. Saturn has colored rings around it.

8. The moon is a dark body but it seems bright as it reflects sun light.( )

9. The sun rises from east and sets to west.

10-The earth rotates around its axis once every 42 hours.

()
()

11-The rotation of earth around the sun lead to sequence of day and night.

12-The earth revolves around-the sun once every 365 % day.

()
()

13- The hours of day are equal to-hours of nightin summer and autumn.

14- In winter season the day is shorter than night.

15- In spring season the night is shorter than day.

4- Choose the correct answer:

1- The nearest planet to the sun is ................

a) the earth \ b) Mercury c) NEptL-_m:E
2- The biggest planét‘\i_s

a) the earth . b) Mercury ) lupiter
3-The sun is a star because it .............

a) absorbs light b) reflect light

c) radiates light d) let light pass through it
4- We see the moon shining because it ...........c.........

a) absorbs light b) reflects light

c) radiate light d) let light pass through it light pass

First term
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5- The sequence of day and night is occurred due to .............

a) revolution of the earth around the sun.
b) rotation of the earth around its axis.
c) rotation of the sun around its axis.
6- The number of the day hours are equal to the number of the night hours
a) summer b) winter.—~  ¢) spring ~_d) all of seasons
7- The sequence of seasons of the year is occurred due to ..............

a) revolution of the earth around the sun
b) rotation of the earth around its axis.
c) rotation of the sun around its axis.

5- Give reason for:

1- The sun is a star while the earth is a planet.

2- The stars seem vefy small in size.

3- The moon is daf'k-i_body but we see it shining.

4 The sequence of day and nighit/e <

5- The sequence of four seasons.

6- The summers day is longer than the winters day.

7- The movement of shadow.

First term (12)
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1-The sun It’s the main source of heat and light

on the earth’s surface.

2-Rotation of the earth It causes the sequenceof day and

around its axis: night.

3-Rotation of earth It causes the sequence of four seasons

around the sun:

First term (13)
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(1) Complete:

1- mass ¢« volume

2- length

3- centimeter ¢« meter « kilometer 4- gram ¢« kilogram ¢« Ton
5- cubic centimeter ¢ cubic meter ¢ liter « milliliter

6- Graduated cylinder ]

7- sensitive balance <« common balance .

8-1Ton o 9-length ¢ w-'i'dth ¢« height

10- 500 11- 20 cm®

12- kilometer 13- one cubic meter.
14- different m_.a';sses 15- solid ¢ liquid ¢ gas
16- liquid 17- changes '
18- gaseous 19- solid

20- increase initemperature 21- melting

(heating) _ :
22- water vapour (gas) 23- carbon (graphitg‘f
24- non metals : 25- copper |
26- jewelers 27- elements
28-iron o 29- metal = nonmetal
30- Mercury ¢ solid-non metal . 31-metals < non metals
32- lower 33- copper

34- good ¢« bad ¢ carbon

35-Chemical

36-Physical

37-Physical

38-Structure producing new substance with new properties

First term (14)




39-Chemical change
40-Melting
41-Physical, chemical
42-Physical, chemical

43-Chemical

44_melt|ng
P I

- - _
Freezing ~ condensation
(2) Write a scientific term:

1- A matter
3- Volume
5- liquid

7- Evaporation 'brocess

evaporation
>

9- Element
11-Iron
13- Chemical change

(3) Give reason:for:

sci€hnce

2- Mass

4- Sensitive balance

6- condensation process
8- Melting process

10- Metals

12- Physical change

1- Because it has mass and volume.

2- Because the piece of stone have volume_that replaces the volume of

spilled water.

3- Because salt has definite\éhap.e_a_f]d volume, while oil has definite volume

and indefinite shape.

4- Because it has indefinite shape and volume.

5- Because water is a liquid with indefinite shape take the shape of its

container.

6- Because water is a liquid with indefinite shape while gravels are solids

with definite shape.

7- Due to condensation of water vapour.

First term
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8- Due to condensation of water vapour in air.

5- Not to be explode.

10- Because it has indefinite shape and volume.

11- Because it is a solid matter.

12- Because it can't be analyzed into two substances or more.

13- Because they can be shaped, and have luster (metals) .

14- Because aluminium is a metal that is good conductor of heat.

15- Because copper is a metal that is good conductor of electricity.

16- Because they are bad conductor of heat. |

17- Because iron is a metal while'sulphurisamnon metal

18- Because foil paper is a metal that is good conductor of electricity while
sulphur is a non rﬁetal that is bad conductor of electricity.

19-Because they are metals. |

20-Due to the/condensation of water vapour that found in air on its cold
surface.

21-Because they are flexible.

22. Because it changes in appearance not in structure.
23. Because it changes in appearance and structure producing new
substance with neW"-properties

24. Because it changes i :n appearance and.not in structure
(4)What happens when: ;

1-1t melts and changes into water.

2-1t explodes.

(5)Cross the odd word
1-Sulphur.

2- lron.

3-Mercury.

4-Bromine.
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(6) Compare between:
1- Solids, liquid and gas.

R ET TR
Volume Definite Definite Indefinite
Shapes Definite Indefinite Indefinite

2- The change of matter process.

Point of Melting freezing Evaporation Condensation
comparison process process process process
From Solid Liquid Liquid Gas

Into Liquid Solid Gas Liquid
By heating cooling heating cooling

3- Metals and non metals

Having luster Shiny haven’t luster

Electric conductivity Good conductor of Bad:.conductor of electri
: electricity Except carbon

Heat conductivity Good conductor of heat § Bad conductor of heat

malleability ductile “Malleableand ductile | Not malleable and ductile
(can be bent) (can't be bent)

Boiling melting point High Low

State of room Solids except - solids (carbon)

temperature mercury (liquid) -liquid ( bromine)

- Gases ( oxygen )

Example Iron — corer Sulphur - carbon
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7-Put (V) or (x) and correct the wrong sentence:

1- (V)
2- (x) The graduated ruler is used to measure the length.
3- (x) The common balance is used to measure the mass of the fruits and
vegetabies.
- (V)
)

x) Freezing is a change of Ilqmd matter to solid state.
V)

) except Mercury. _

- (x) Liguid matter have indefinite shapes &deflmte volumes.

10 (x) Gases are changlng their shapes and volumes' accordlng to the
container. .
11-(x) carbon ,(graphite) is non-metal element and good conductor of
electricity. " "
12-(x) Graduated cylinder is used to determine the volume of |rregular small
stone.
13-(x) The mass of equal volumes of different materials is dlfferent
14-(x) Freezing.! :
15-(x) Elements are the simplest form that the matterfound on it.
16- (x), physical change
17- (x), chemical change
18- (V)
19- (x), can return back
20- (V)
21- (V)
22- (V)
8-What is meant by:
1-Mass:the amount of matter in an object.
2-Melting:the changes of matter from solid state to liquid state by heating.

5(
6- (
T
8(
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3-Metals:solid elements except (mercury),have high melting &boiling
points, have ability to conduct heat & electricity,can be bent, hammered

and have luster.
9- Choose the correct answer:

1) physical change
2) dissolving of sugar in water
3) physical change

4) chemical change

1- Write the s;-i"éntific term:
1.The sun |
2. Stars
3. Mercury
4.Planets
5. Mercury
6. Jupiter
7. Saturn
8. Moons
9. Earth
10.Venus
11.Sequence of day and night
12.Sequence of four seasons

13.Summer season

First term

(19)




14.Winter season

15.Spring and autumn

16.Moon

2- Complete the following:

1
2

Sun, 8 planets
Venus, mars
Mercury, Neptune
Red, blue
Summer

Winter

Spring, autuﬁn
365 %

365 %

10-Day and night, four seasons

3- Put right or wrong:

1.
2.
3

(V)

(x), sun

(V)

(x), mars and Venus
(x), 8 planets

(x), mars is red planet
(V)

(V)

First term
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9. (V)

10.(x), 24 hours

11.(x), around its axis
12.(V)

13.(x), spring and autumn
14.(V)

15.(x), summer

4- Choose the correct answer:

1) Mercury £

2) Jupiter

3) radiates light /

4) reflects Iight__."'l

5) rotation of earth around its axis

6) spring

7) revolution of the earth around the sun

5-Give reason for:

1. Because the su-n_‘is ashiny body and radiates a heat and_li'ght, while earth

is a dark body revolves@round.the sun in a fixed/orbit:
2. Because they are very far away from us. |
Because it reflects the sunlxi'g'ht-.---..

Because earth rotates around its axis once every 24 hours.
1
Because the earth revolves around the sun once every 365 = Day.

Because the earth's axis is inclined.

N o ow AW

. Due to rotation of earth around its axis OF due to the apparent

movement of the sun.




